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11.1

ÑBlank

’b= �1 1 1— とすると、求める方程式は、a ¢ �x y z— = a ¢ b

Ú 2x¡ 0:5y+ z= 2:5

“Blank

”この２平面を通る曲面は一般に (x+ y+ z+ 1) + k(2x+ y¡ 2z¡ 3) = 0で書ける。

これに (1; 1; 1)を代入して、(1 + 1 + 1+ 1) + k(2 + 1¡ 2¡ 3) = 0 () k = 2

Ú 5x+ 3y¡ 3z¡ 5 = 0
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ÑA= Ł 2 ¡2 0
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V(A) = j2 ¢ 2 ¢ 2 + (¡2) ¢ (¡2) ¢ (¡1) + 0 ¢ (¡1) ¢ (¡1)¡ 0 ¢ 2 ¢ (¡1)¡ (¡2) ¢ (¡1) ¢ 2¡ 2 ¢ (¡2) ¢ (¡1)j

= j8¡ 4 + 0¡ 0¡ 4¡ 4j= 4 Ú V(A) = 4ÝÝ(答)
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V(B) = j13 ¢2 ¢¡14+(¡2) ¢(¡2) ¢(¡7)+26 ¢(¡1) ¢(¡1)¡26 ¢2 ¢(¡7)¡(¡2) ¢(¡1) ¢13¡(¡14) ¢(¡2) ¢(¡1)j

= j ¡ 364¡ 28 + 26 + 364¡ 26 + 28j = 0 Ú V(B) = 0ÝÝ(答)
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ÒX 2x¡ 2y+ z = ¡4x+ 2y¡ 2z = 6

¡ 2x+ y+ 2z = ¡3
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